PM SHRI KENDRIYA VIDYALAYA SITAPUR SHIFT 1
CLASS -7
SUBJECT - ENGLISH
TIME:2 HRS M.MARKS-40
General Instructions :-
The question paper consists of five sections:-
Section A: Reading ((10 marks)
Section B: Literature (10 marks)
Section C: Grammar (10 marks)
Section D:Creative Writing (05 Marks)
Section E: Spelling (05 Marks)
Read each question carefully and follow the instructions.
SECTION A: READING (10 MARKS)
1. Read the passages given below and answer the questions that follow: - (5x1)= 5 marks
Dolly, the donkey, had a kind master. The master taught Dolly to help him carry heavy things.
However, Dolly was too playful to listen to her master. Instead of doing her work, the young
donkey would go for a walk in the jungle.
One day, Dolly wandered into the jungle. She met some squirrels and asked them to play with
her. “Sorry, we have to look after our brothers and sisters,” they said. Dolly walked on and saw
a tiger. She quickly hid in a cave. When the tiger left, Dolly came out of the cave.
It was getting late and the sky was dark. “Help!” Dolly screamed suddenly. A snake was trying
to bite her. She ran home to her master as fast as her legs could carry her. Her master was
waiting for her at the door
Question 1.
Dolly’s master taught her to
(a) be playful
(b) walk in the jungle
(c) carry heavy things
Question 2.
Why didn’t the squirrels want to play with Dolly? They had to
(a) look for the tiger
(b) play with the snake
(c) look after their brothers and sisters
Question 3.
What did Dolly do when she saw the tiger? She
(a) hid in cave
(b) screamed for help
(c) ran as fast as she could
Question 4.
Why did Dolly run home?
(a) The tiger was chasing her.
(b) The snake was trying to bite her.
(c) The master was waiting for her..
Question 5.
Which sentence is true?
(a) After the tiger left, Dolly met a snake.
(b) Dolly killed a snake and went home.
(c) The squirrels helped Dolly to carry heavy things.
2. Read the passages given below and answer the questions that follow: - (5x1)=5 marks
The rivers of India play an important role in the lives of the Indians. They provide potable water,
cheap transportation, electricity, and the livelihood for a large number of people all over the
country. This easily explains why nearly all the major cities of India are located by the banks of
rivers. The rivers also have an important role in Hindu Religion and are considered holy by all



Hindus in the country. Seven major rivers along with their numerous tributaries make up the
river system of India. The largest basin system of the rivers pours their waters into the Bay of
Bengal; however, some of the rivers whose courses take them through the western part of the
country and towards the east of the state of Himachal Pradesh empty into the Arabian Sea.
Parts of Ladakh, northern parts of the Aravalli range and the arid parts of the Thar Desert have
inland drainage. All major rivers of India originate from one of the following main watersheds: 1.
Aravalli range 2. Himalaya and Karakoram ranges 3. Sahyadri or Western Ghats in western India
4. Vindhya and Satpura ranges Himalayan glaciers in the Indian subcontinent are broadly divided
into the three river basins, namely the Indus, Ganga and Brahmaputra. The Indus basin has the
largest number of glaciers (3500), whereas the Ganga and Brahmaputra basins contain about
1000 and 660 glaciers, respectively. Ganga is the largest river system in India. However these
rivers are just three among many. Other examples are Narmada, Tapi, and Godavari.
Read the passage and choose the most appropriate option.
Q1. According the passage, the major rivers in India
a) Pour only into Bay of Bengal
b) Pour only into Arabian Sea
c) Pour either into Bay of Bengal or Arabian Sea or have inland drainage
d) Pour either into Bay of Bengal or Arabian Sea
Q2. How many glaciers are there in each of the river basins in India?
a) Brahmaputra, Ganga, Indus — 1000, 660, 3500 respectively
b) Indus, Brahmaputra, Ganga — 1000, 660, 3500 respectively
¢) Ganga, Indus, Brahmaputra — 1000, 660, 3500 respectively
d) Ganga, Brahmaputra, Indus — 1000, 660, 3500 respectively
Q3. According to the passage the rivers in India play a pivotal role because:
i. They provide potable water
ii. They are important only to the Hindus
iii. They provide cheap transportation & electricity
iv. They are located near all major cities in India
v. They are means to earn livelihood for a large number of people
Choose the correct options
a) (i) (ii) iii) (iv) (v)
b) (iii) (i) (v)
c) (v) (iii) (i) (iv)
d) (i) (ii) (iii) (iv) (v)
Q4. All the major Indian rivers originate from the following watersheds.
a) Himalaya, Karakoram, Aravalli, Western Ghats, Sahyadri, Vindhya
b) Karakoram, Aravalli, Himalaya, Hindu Kush, Vindhya, Satpura, Sahyadri
c) Himalaya, Karakoram, Aravalli, Nanga Parbat, Vindhya, Satpura, Western Ghats
d) Aravalli, Himalaya, Karakoram, Sahyadri, Vindhya, Satpura
Q5. Which all rivers are mentioned in the entire passage:
a) Ganga, Bay of Bengal, Indus, Narmada, Tapi, Godavari
b) Tapi, Ganga, Bay of Bengal, Indus, Arabian Sea, Godavari
¢) Brahmaputra, Indus, Ganga, Narmada, Tapi, Godavari
d) Narmada, Tapi, Godavar
Section B:Literature(Prose/Poetry) (10 MARKS)
3. Answer any 3 questions in 20-30 words. (3X2)= 6 marks
1. How long does it take for a grub to become a complete ant?
2. The enclosure in which Kari lived had a thatched roof that lay on thick tree stumps.
3. Finding good twigs for Kari took a long time. Why?
4. Mention three things we can learn from the ‘tiny teacher’. Give reasons for choosing
these items.
5. Why did Kari push his friend into the stream?.



4. Answer any 02 questions in 20-30 words. (2X2)=4 marks

1.

2.
3.
4.

Why did the king want to know answers to three questions?
Why was the king advised to go to the magicians?
What is the secret that Meena shares with Mridu in the backyard?
Who is the poet of the poem,”the Squirrel”.
Section C: Grammar (10 Marks)

5. Choose the most appropriate answer from the following. (any 10) (10X1)=10 marks

(i) Look! We to crash. (Go/are going/were going/have gone)
(i) I wish | a better memory. (Have / had / had had)
(iii) After he his homework, he went out to play. (Completed/had completed /
Either could be used here)
(iv) I him for a very long time when we got married. (knew/have known/had
known/had been working)
1Y) P sun sets in the west.
(a)a
(b) the
(c) an
(d) none of these
(vijHegaveme .........ccovveenn five rupee note.
(a) an
(b)a
(c) the
(d) none of these
(Vi) Thisis coveveviiiiiiinnnnn, book.
(a) an
(b) the
(c)a
(d) none of these
(Viii)Ramis .oovvvveeenneennnnn. honest man.
(a) an
(b) a
(c) the
(d) none of these
(ix) If you want to go bus, you have to go the bus stop.
a)By,To
b)To,On
c)At,On
d)On,To
(x) You look the time table.
a)By
b)To
C)At
d)On
(xi) Then you wait your bus.
a)By
b)To
C)At
d)For
(xii) When the bus arrives. You get the bus.
a)By
b)On
C)At
d) For



Section D:Creative Writing (05 Marks)
6. Develop the following hints into a story :
Hints : The king of Scotland was defeated six times------ hid himself in a cave saw a spider trying
to climb up to the roof of the cave the spider fell six times and then succeeded- the king was
encouraged - tried again to defeat his enemies and succeeded.
Or
Write a paragraph in about 100-120 words on the topic given below using the hints:
Importance Of Trees In Protecting our Environment
Hints: Great Friend/ check soil erosion/ cause rain/ control temperature and pollution/
increase fertility of soil/ provides us many useful things like food and shelter to people /
animals/ birds- giving oxygen taking carbon dioxide / maintaining ecological balance.(any
other point you can think of)
Section E: Spelling (05 Marks)

7. Choose the words that are spelt correctly:
1.a. Comedy

b. komedy

c. comede

d. comidy

2. a.Jurney
b. Journey
c. Jorney
d. Juorney

3. a. Amarica
b. Amarika
c. America
d. Amerika

4. a. Ancient
b. Anceint
c. Ancint
d. Ancinte

5.a. curiculum
b. extinguish
c. expecially
d. mathimatics



